Solving Algebraic Equations Containing Decimals (Deal with Decimals & Clear of Decimals)

MrB4math.com

1) 3.5+ 7x =84 —3x

6) 7 =100x+ 0.4

11) 47+9y—12=2y

2) 9.12= y— 0.4y

7) 3(k—12) =12k

12) 03x—-58= x—7.9

3) 57+ 16.2 = 2(3r — 4.03)

8 x+04=03x-1

13) 2r =—-4(2r+7.1)

For 4 & 5, clear of decimals, then solve.
4)
1.2x — 0.07 — 0.8x = 0.73

For 9 & 10, clear of decimals, then solve.
9) '
—2y +54 =-2.1+ 0.5y

For14&15, clear of decimals, then solve.
14)

—1.02 = 0.3x + 0.48 + 0.2x

5)
03y —2.7 =3

10)
0.08 = 0.02x

15)
0.4y —3.1=05



